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QUESTION 1 (16 marks)

Year 11 Extension 1 Assessment Task#l 2009

a) Solve the absolute equality |x—3]=2x+1

b) Solve the absolute inequality J4x—3|>5.

¢) Solve the guadratic inequality 6x2—-5x—420

Flr)=3-2x7

d I

x<-2

F=pr*-3 —2<x<3

f)=2x*-1 x23

¢) Find the values of x for which

f) Solve the inequalityRx— 3| +2x+4>6

QUESTION 2 (13 marks)

evaluate |f(-2)|+3f D +2f(3)-5

2x >1
x—3

a) State the natural domain and range for each of the following functions?

@ = A6—

5
@ y=x2—3x+2

() y=3"+2

b) By compléting the square, or otherwise, determine the vertex of the
parabola y=x*+4x+8
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QUESTION 2 (continued) Marks
¢) If f(x)=x*—3x+1 find the value of F(v2+1) 3
d) For the curves f(x)=x—3x and g(x)=9-x" find their points of intersection. 2

QUESTION 3 (11 marks)

a) () Determine whether the following function is odd, even or neither 2
=
(ii) Sketch the function showing ALL important features 3
b) Sketch neatly (on the same set of axes) the following: 6
O y=—m

i) x*+y*=25

(iii) The region that is satisfied simultaneously by the inequalities
‘ 4
x?+y* <25 and y = —
. «-1

QUESTION 4 (17 marks)

. | , .
a) Find Lim[x % } 2
RS x— 5
2, 2
¢ Find lim| 23504 2
et 3x°—5x
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QUESTION 4 (continued)

xt+4

T <6 and graph the solution(s) on a real number line.
x—

d) Solve

e) Sketch neatly the following functions:

@ y-l=@+1
G y=px-3+1

@  y=|x-17]

QUESTION S (8 marks)

‘

a) In the following diagram find the length of AC

B 11-3 m c
56° ‘ 32°
0t N
4

b) Point B is South-East (S45°E) of point A and a distance of 2 km from it.
From point A, a point P has a bearing of 057°T and from B the bearing
of point Pis 348°T. ’

(i)  Find the size of ZPAB and ZAPB

(i)  Find the distance from A to P giving your answer to 2 decimal places

End of Task
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